INSTALLATION MANUAL
Minima/700 Series

CABLEDUCT

—LIMITED—

SMALL PARTS BREAK DOWN LIST

Ref Item Description Product Code Quantity
. Earth Cable: 2x
Earth Cable, Earth Screws & Earth Cable: EART.HWIRE-175mm Earth Screws: 4x
a Washers Earth Screws: M5x4-PH Washers: 4x
Washers: WASHER-M5x2BA |
Per Floor Box
65mm Base: M8x45-CH . )
X o | Height Adustment Botts & 85mm Base: M&x65-CH Adjtztcr‘;e,\z‘;tz?gi' 2
E Lock Nuts 120mm Base: M8x80-CH Per Floor éox
: Lock Nut: NUT-M8
o
£ 65mm Base: M5x20-POZI
c — Base & Frame Fixing Screw 85mm Base: M5x40-POZI 2x Per Floor Box
% 120mm Base: M5x40-POZI
s
° &2C rtment Floor Boxes: 1x
. 1 ompartmen ;
J CEENlke e 3 & 4 Compartment Floor Boxes: 2x
e Lid Hinge Screws Mb5x4-FLAT 2x Per Floor Box
- .
f g | Counter SunkLid o Frame M5x10-CS16 4x Per Floor Box
> Fixing Screws
o
o
2
a
g § Outlet Plate Fixing Screws M5x6-PH 2x Per Outlet Plate

©2020 by Cableduct Limited




